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teYbW\e	ah	 \ke	malWX`X_e	ah	 \ke	Yesf`^	p`]	ah	RPO
\i`XYlWYYWaX�	`Y	fYf`^�	Pt}Y	`ie	ieheiiem	\a	`	kWok	iWYZ
oiafb	ah	RPO	 WXhe_\WaX�	jke]	 `ie	 aXe	ah	 \ke	laY\
�biag^el`\W_�	mifo	fYeiY	`Xm	`ie	aXe	ah	\ke	l`WX	RPO�
WXhe_\WaX	 \i`XYlW\\eiY�	jke	 _fiieX\	 ebWmelWa^aoW_`^
YW\f`\WaX	̀ YYa_W`\em	pW\k	\ke	RPO�WXhe_\WaX	\i`XYlWYYWaX
`laXo	WX|e_\WXo	mifo	fYeiY	Y\W^^	iel`WXY	_alb^W_`\em�
jke	 ienWep	bieYeX\Y	 \ke	l`WX	 m`\`	 `Y	 ieo`imY	 \ke
ebWmelW_	bia_eYY	ah	mifo	mebeXmeX_e	̀ Xm	RPO	WXhe_\WaX�
WX_^fmWXo	WX|e_\WXo	mifo	fYeiY	WX	cai\k	TleiW_`�	TYW`�
\ke	�fiabe`X	}XWaX�	\ke	dfYYW`X	�emei`\WaX�	\ke	}Zi`WXe
`Xm	Ae^`ifY�	P\	k`Y	geeX	elbk`YWqem	\k`\	\keie	WY	̀ 	Xeem
\a	_ie`\e	`	fXWhWem	Y]Y\el	hai	laXW\aiWXo	X`i_a^aoW_`^
YW\f`\WaX	WX	aimei	\a	Wlbiane	\ke	bianWYWaX	ah	lemW_`^
`Xm	Ya_W`^	_`ie	 \a	mifo	fYeiY	`laXo	mWhheieX\	oiafbY
ah	\ke	babf^`\WaX�
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